
Name _________________________________  Date ______________________  Period ______ 

SHOW ALL WORK! *Write the formula first, when needed!* 

 

1.  Victor measured a circular lid and found d, the diameter, was 8 inches and C, the 

circumference, was 25 inches. 

              Which expression represents an approximate value for  ? 

A  25 + 8 

 

 B  25  8 

 

 C  25 x 8 

 

 D  25 – 8 

 

2.  The diameter of a circular table is 6 feet.  Which of the following is closest to the 

area of the tabletop? 

 

A  113.04 square feet 

 

B  28.26 square feet 

 

C  18.84 square feet 

 

D  9.42 square feet

 

3.  The radius of a circular swimming pool is 7.8 meters. Which is closest to the circumference of this 

swimming pool? 

 

A  24.49 m 

 

B  47.76 m 

 

C  48.98 m 

 

D  191.04 m

 

4.  A circular plate has a diameter of 11 inches. Which is closest to the area of this plate? 

 

A  17.3 square inches 

 

B  34.6 square inches 

C  95.0 square inches 

 

D  380.1 square inches 

 

5. Leo is designing a circular table top with a diameter of 10 feet. 

 

A. Which is closest to the circumference of this table top? 

 

A  314.2 feet 

 

B  78.5 square feet 

 

C  31.4 feet 

 

D  15.7 square feet 

 

B. Which is the closest to the area of this table top? 

 

A  314.2 feet 

 

B  78.5 square feet 

 

C  31.4 feet 

 

D  15.7 square feet 

 

6.  Clinton purchased a circular rug to cover part of a floor.  The diameter of the rug is 8 feet.   

Rounded to the nearest whole number, what area of the floor will the rug cover?          _______________ 

 

 

 

7. A circular pool has a radius of 12 feet.  

What is the approximate distance around the pool, rounded to the nearest foot?          _______________ 
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